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Geometry

Ch 6 Group Review

1. Each of the parallel sides of a trapezoid 1s called a(n) BASE

2. In //gram ABCD, mzABC = 79°, BC=62.4 and BD = 75. Find ...
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3. WXYZ is a //gram. Find...
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4. Three vertices of //gram RSTV are R(-8, 1), 5. Determine if the quadrilateral is a /gram.
S(2, 3), and V(-4, -7). Find the coordinates of Justify your answer.
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6. Show that the quadrilateral is a //
: gram for the 7 . .
given values of the variables. d Ir;:irzgtangle ABCD, CD = 18 and CE = 19.8.
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8. In rhombus WXYZ, WX =(7a+ 1), WZ = (9a - 6), 9. In thombus RSTV, msTZV = (8n + 18)°, and
And VZ = (3a). Find... m<4£SRV = (9n + 1)°. Find...
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11. Determine whether the conclusion 1s valid.

10. Find the measures of the numbered angles.

rectangle MNPQ Explain. - 5
NP ms3=msNPM a. Given: ER | FS, ER=FS
= 233" Conclusion: EFRS is a square.
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DHLP is A RECTANGLE

13. In kite WXYZ, mzVXY = 58°, and meZWX = 50°. Find. .
X 5‘*3"’
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14. Find each measure.
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15. Find the value of n so that PQXY is isosceles.
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